61, 111 had had enou

ahmoney,|_ that radio,
2) would buy
Ahod bought

1) bougint
) would have bought

62. I__onsy to paint pleture If you know how to

63

-

G4,

G5.

66.

67.

68.

69.

70.

L e

72,

.

1) would be 2) had boen

Selecttho corrnet Infinitiv

some bread

1) Togol 2)no Infinity 3) 10 tha sloro

change the spooch Kiran askod mo "d|

crickot match on tolovision Ingt night?"

1) Kiran askod mo whethor | saw the erickel match
on television the earlior night

2) Kiron asked ma Whother | had saan the erickel
malch on television the earlier night

3) Kiran had asked me I 1 seo the erl
ckel
lelevision the fasy night Gl

4) Kiron asked mo whelher | had goon the crickol
malch on television (he last night
David saldto Anna "mona will leave forhern

3) would have heen 4) bo
0 She wont to the storo to ot

4) some broad
d you noo the

atl h

tomorrow" T

1) David told Anna that Mona willleave for her native place
lomorrow

2) David told Anna (hat Mona left for her native place (he!
next day

J) David told Anna that Mona would be leaving for her
native place tomorrow

4) David told Anna that Mona would leave for her native
place the next day

I sald to him "where are you working so hard?*

1) | asked him why he was working so hard

2) | asked him why was he working so hard

3) | asked him why had he been working so hard

4) | asked him why he had been working so hard
He said to her "what a cold day!"

1) He 1old her that il was a cold day

2) He exclaimed that it was a cold da

3) He Claimed Sorrowfully thal it was a cold day
4) He exclaimed that it was a very cold day

Choose the correct modal verb you go already you
only arrived an hour agol

1) Must  2) Should 3) Can 4) None
You can tell if a collective noun is singularif:

1) All the individuals in the group do different things at
the same time.

2) The individuals in the group decide,
3) There is only one individual in the group,

4) All the individuals in the group do the same thing at
the same lime,

What Is the cause? Jose drank two glasses of lce-
cold water

1) Because he had nothing else 1o do.

2) Because he was extremely hot and thirsty,
3) Because he was feeling cold.

4) Because he was going out with his friends
Collective nouns can be

1) Singular 2) proper  3) plural 4) 1 and 3
Which Is correct match

1) a number of direclors of a company - lroop
2) people collected wilhout any specific purpose -mob
3) a number of judges - bench

4) a number of artisls - spectators

Whatls a collective noun

1) Yah word used 1o describe different verbs
2) Noun that you can collect

3) A word used to describe a group of nouns

4) All of the above : ./:"\

PAPER -1
T4. Choose tha correct order of adjoctives

Andrea had a___in her hair yesterday.

75.

76,

7.

8,

79,

80,

81

-

82,

84,

8s.

ar7.

8o.

90.

1) a nica yellow bow
3) bow nice yellow

Pick the correct option:

1) a group of geese is

2) a group of ducks Is called a pack.
3) a group of frogs Is called an ormy.
4) a group of fish Is called a flock.

She taking of going back to University and taking
a___graduate course

1) pre  2)under 3) post 4) none
Sara's halr Is as Black am_

1)Coal  2)ink 3) sunset 4) none

He cut my hairs___today than last time

1) more quickly 2) morequick

3) Quicker 4) none ¢
The company___go hankruptif they don‘tfind a lot o
money quickly?

1) should 2) should'nt 3) might 4) none

Vacation means

1) adventure 2) busy time 3) free time  4) job time
Match the following

1) Ruin A. short quick brisk breaths

2) pant B. cracking into pieces

3) gag C. decayed building

4) erumbling D. a piece of cloth

1) 1c,2d, 3a,4b 2) 1c,2d,36,4a

3)1e,2a, 3b,4d 4) 1c.2a.3d.4b

Mateh the following

1) griefl A) @ person who makes songs
2) Heed B) a great sarrow

J) pilgrimage C) a journey to holy place

4) composer D) to pay altention do something
1)1A,2B,3C,4D 2) 1B,2D,3A 4C

3) 1B8,24,30,4D 4)AB.2D,30,4A

Which sentence shows as routin things

1) I had been playing cricket by 10 years

2) she wenl to USA in 2010

3) he has been going to school these days.

4) our head masler reaches school by 9 am

Wrong statement related to must

1) Must shows some obligation and compulsory

2) If express that the work is 1o be done without fail
3)the verb that comes after must is always in simple past
12 2)23 3)3only ‘4)None

The Kothari Commission recommended English as

1) Link Language
3) Literary language

According to Nehru, Englishls

1) the window of the world 2) the rool of the world
3) the crown of the world 4) None of these

The term 'second language’ Is used to describe any
language whose acquisition starts

1) soon afler birth

3) In the early adulthood4) In the late adulthood
Language learning Is a / an process

1) subconscious
3) unconscious

Language acquisitionis a/an process

1) subconscious
3J) unconscious

Who are the best suited to learn a second language

1) children below 6 yers
3) leenage children

2) yellow nice bow
4) none

called a gaggle.

2) Library language
4) All the above

2) after the early childhood
2) conscious
4) super consclous

2) consclous
4) super conscious

age 2)children above 6 yers age
4) adulls

po
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